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NOISIVER WAL  
 

SREBIRCSBUS OT ECITON  
 

)noisiveR 5991( WAL SEINAPMOC TSURT DNA SKNAB  
 

er ni yaled elbadiovanu na ot euD -  seinapmoC tsurT dna sknaB eht fo noisiver
er hcus litnu ,)noisiveR 5991( waL -  ni daer eb dluohs ti ,dehsilbup si noisiver

 htiw noitcnujnoc  fo reviaW( )tnemdnemA( seinapmoC tsurT dna sknaB eht htob
 htiw dna I traP fo 1 noitces htiw dna )8991 fo 01 waL( 8991 ,waL )seeF ytlaneP
 ,waL ytirohtuA yratenoM eht ot 2 eludehcS fo III traP fo hpargarap dnoces eht

dehsilbup yllanigiro sa )6991 fo 61( 6991  tnemelppuS sa 6991 rebmeceD ht9 no 
 fo rebmun a sniatnoc wal rettal eht sa ,6991 fo 52 .oN ettezaG ot 4 .oN

.)noisiveR 5991( waL seinapmoC tsurT dna sknaB eht ot stnemdnema  
 
 swollof sa era stnemdnema esehT - 
 

“ aL seinapmoC tsurT dna sknaB eht ot stnemdnemA )noisiveR 5991( w  

.1  dednema si 2 noitceS - 

)a(   dna ;”rotcepsnI“ fo noitinifed eht gnilaeper yb  
)b(  noitinifed gniwollof eht gnitresni yb - 

 rednu dehsilbatse ytirohtuA yratenoM sdnalsI namyaC eht snaem ”ytirohtuA“
,waL ytirohtuA yratenoM eht fo )1(3 noitces  fo eeyolpme yna sedulcni dna 6991 

.”;noitasirohtua s’ytirohtuA eht rednu gnitca ytirohtuA eht  

.2   dna srucco ti reverehw ”rotcepsnI“ gnilaeper yb dednema si waL ehT
 yb detutitsbus si ”rotcepsnI“ )8(5 noitces ni taht tpecxe ”ytirohtuA“ gnitutitsbus

icnaniF“ .”yraterceS la  

.3   ”eh“ si ”rotcepsnI“ ot gnirrefer ,nuonorp eht erehw waL eht ni sesac lla nI
 eht ,”ytirohtuA“ yb detutitsbus neeb sah ”rotcepsnI“ 2 hpargarap fo eutriv yb dna
 lanimonorp eht ot edam era segnahc gnidnopserroc dna ”ti“ ot deretla si nuonorp

.sevitcejda  

.4  dednema si )1(5 noitceS - 

)a(   eht ot tnes eb llahs“ gnitutitsbus dna ”niatnoc llahs“ gnilaeper yb
;”yb deinapmocca ytirohtuA  

)b(   dna ;”hcus yb deinapmocca eb llahs“ gnilaeper yb  
)c(  gniwollof eht ”hcihw“ retfa gnitresni yb - 

s ytirohtuA eht“  eht fo tifeneb eht rof yraterceS laicnaniF eht ot drawrof llah
.”hcihw dna eunever  
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.5  gniwollof eht ”yap“ retfa gnitresni yb dednema si )7(5 noitceS - 

.”eunever eht fo tifeneb eht rof yraterceS laicnaniF eht ot“  

.6  dednema si )8(5 noitceS - 

)a(   gnitresni yb  yraterceS laicnaniF eht ot“ gniwollof eht ”yap“ retfa
dna ;”eunever eht fo tifeneb eht rof  

)b(  gniwollof eht ”elbayap“ retfa gnitresni yb - 

.”eunever eht fo tifeneb eht rof yraterceS laicnaniF eht ot“  

.7  dednema si 21 noitceS - 

)a(  1( noitcesbus gnilaeper yb dna ;)  
)b(   )d( hpargarap fo dne eht ta ”dna“ gnilaeper yb )2( noitcesbus ni

;)e( hpargarap gnilaeper yb dna  
)c(  noitcesbus gniwollof eht )2( noitcesbus retfa gnitresni yb - 

)a2(“ - yam ytirohtuA ehT - 

)a(  r htiw ronrevoG eht ot snoitadnemmocer ekam dna enimaxe  tcepse
;secnecil rof snoitacilppa ot  

)b(   eht ot snoitadnemmocer ekam dna slasoporp lla enimaxe
 snoitces rednu srewop sih fo esicrexe eht fo tcepser ni ronrevoG

dna ;61 dna 51 ,41  
)c(   ,noitca yrassecen lla ekat ot dna ronrevoG eht ot resivda eht sa tca

lcni  gnitanigiro ,ronrevoG eht fo lavorppa eht htiw ,gnidu
 tsuj dna reporp eht erusne ot truoC dnarG eht ot snoitacilppa

dna ;”.waL siht fo noisivorp yreve fo noitatnemelpmi  
)d(   eht fo lavorppa eht htiw“ gnilaeper yb )4( noitcesbus ni

.”.”ronrevoG  
 DNA  

noitceS“  draoB ycnerruC sdnalsI namyaC eht “ sdrow eht dna 31 ,)6( dna )c()3(21 
 era ”)noisiveR 5991( waL seinapmoC tsurT dna sknaB eht fo ,)2(3 noitces ni ”ro

.delaeper  

 siht rof ,dehsilbup si noisiveR 9991 eht litnu ,egnarra dluohs srebircsbus llA
tta eb ot eciton .noisiveR 5991 eht fo seipoc rieht ot dehca  

 


